SCIENCE & TECHNOLOGY

(Summative Assessment - I)

Time : 3 Hrs. Maximum Marks : 90
General Instructions :

1.

9.

The question paper consists of 2 sections—Section A (having 27 questions)
and Section B (having 12 questions). You are to attempt both the
sections.

All questions are compulsory.

. There is no overall choice. However, internal choices have been provided

in all questions of 5 marks category and 3 questions of 3 marks category.
All questions of Section A and all questions of Section B are to be
attempted separately.

Questions 1 to 4 in Section A and Questions 28 & 29 in Section B are
multiple choice type questions and carry one mark each.

Questions 5 to 10 in Section A and Question 30 to 32 in Section B are
very short answer type questions and carry 01 mark each.

Questions 11 to 16 in Section A and Questions 33 & 35 in Section B are
short answer type questions and carry 2 marks each.

Questions 17 to 23 in Section A and Questions 36 to 37 in Section B are
also short answer type questions and carry 3 marks each.

Questions 24 to 27 in Section A and Questions 38 & 39 in Section B are
long answer type questions and carry 5 marks each.
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Section - A (W@g-37)

A boy is riding a bicycle on a rainy day. The force exerted by
the boy and the force due to which rain falls downward are:
(a) Contact and Non-contact forces respectively

(b) Non-contact and contact forces respectively

(c) Both contact forces

(d) Both non-contact forces

Teh iRl a9 & & WEfhet =el @1 81 dsh & gR oA T4
1 3R o8 =t fome gry afeer e fiedt @

(a) oRgd: Tet 3R eremst 9t § (b) a&qd: oreqel i w9l ot ©
(c) TM & ot ot 7 (d) 3 & srowet ot @

From the following set ups, the ore which can be used as a
continuity tester is :

1 oHeeeneti § @ fFQ Haq Ses & €9 H YA T hd 22

(a) (b)

(c) (d)

Alternative Question for Visually Challenged Students
gfed foenfde & fow Jwfeas o=

Out of the following, the liquid, that is likely to act as the best
conductor of electricity, is

(a) Distilled water (b) glycerine

(c) glucose (d) orange juice
frrferfad seif & @ =F @1 fog[ &1 gad g ¢

(a) 3THeA (b) freredm

(c) TeehiS] (d) IR &1 ™

The process of removing impurities from the ore is called
(a) concentration of ore (b) Metallurgy

(c) Refining (d) Reduction
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R ht SGAl HI R FH &1 Al Fwamdt T

(a) 3TT=h Hi Higdl (b) fremdor

(c) g (d) enferehio

Which of the following is a non-renewable source of energy?
(a) Wood (b) Wind

(c) Petroleum (d) Biomass

fAfafad B 9 A 91 99 2 9ol SST T & 27

(a) Hel (b) a1y

(¢) U2ifera™ (d) Sfaes

A ball, rolled with a given speed, is observed to travel a smaller
distance on a rough road as compared to a smooth surface.
Why?

TF M Y AGHE T UF 5 fHE GeEt 7 W uE o wae @
%0 T T Hl S| F?

While sleeping at night, you felt a sudden violent movement
of your bed for a second or so. Define the phenomenon

associated with the happening.

Td Sl Tid THT U 3T S 99 G hi oI Teh &0 b
fau IR 9 feaar g #egy fhdll s9 W 9 Jg gT A ol
TR ifsa)

In television news, an earthquake of intensity 6.0 on Richter
scale is reported. What does the number 6.0 signify regarding

the effect of this earthquake?
I THMER ® Tk 9o 1 dfigar fet T W 6.0 =4 T SE
6 39 T H qFT & fHg g w1 <@ |2

Write the name of the property due to which a substance can

bear a lot of strain without breaking.
Tered & 39 01 1 T4 fofen fSed o' yai@ a1 sl fo 22 g
TE FX Gl 2

Why does petroleum float over saline water?
YeIfeRm EWR T ® S A G 67
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10. Write any one reason that makes natural gas a cleaner fuel. 1

Whfask 19 Tk 35 oM €, Th FHRO g T HIfey)

11. (a) An object, P is moving from east to west with a speed of
10m/s
(i) A force F, applied on the object, increases its speed
to 12m/s
(ii) A force F,, applied on the object, decreases its speed
to 8m/s
State the likely direction in which forces F,
& F, have been applied.
(b) With the help of diagram, show the original direction of
motion of object P and the direction in which forces F, &

F, might have been applied. Yotlat1=2
(31) Ts o] PYd © uf¥=m &1 ®E 10 HX 4fq Tebe 1 fa I <
@ 2l

(i) Th 9 F o%] T OME T, $HH oG I A I
12 HieX 9fd Hepe qh S
(il) T & F,, 9% T IR T, 36T 9&] hi T hl § HieX
Hfq Tehe q S
Sy faen <iel fSo 9@ P iR F, @M )
() ahfa 9 fe@md, o p w1 Wi i f&en iR =@ feon foew o
F 3R F,@C T g

Alternative Question for Visually Challenged Students

ghedi fornfifdl & fom Swfeaes wom

Two objects A & B, of masses 10 kg & 50 kg are moving with
the same speed. Which one would need a greater force to stop
it and why?

T oeqd A IR B, TSR HWefd wmen: 10 fRan ek 50 fwam €,
T Tfa @ =t W Rl wA g H U & fau s 9o w5
SAITIRA B SR 2

12. A student 'A' tries to push a heavy almirah but he is unable to

do so. A friend 'B' helps him in doing so. Together they are
able to move the almirah in a specific direction.
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13.

14.

15.

16.

17.

(i) Why was student 'A' not able to move the almirah alone?
(ii) Name the force that was coming into play.

e foanell A Th IR ST I Yol 1 IV AT Bl R
9% UH1 T § §me 6l 81 Ul T A9 B 3§l UH % § AE]
TN 71 S et ST ) ek fafire faen o wem o e
s €

(i) Toenefl A sThell ST &1 TR H GeTq = 21 & Ura?
(ii) ST o 1 9 FA S TS & @I Al

How is sodium chloride different from citric acid as an
eleclrolyte?

g TR Wicay aREe TF soaenee & &9 § fafcs sma §
fa= 22

Write the name of the gas which is evolved when a metal

reacts with a dilute acid. How is this gas identified?
e Tk U1, Th o ol o Y o et €, 99 S T S e
2 3TF1 AW fafEu) 39 19 # HY YEEE S e?

(a) Define Green house effect.
(b) State any one of its consequences.

(a) den-sR-gure ((2fa)-Te 99@) i ufefua sifs)
(b) 9 forelt T uwE &1 fafau)

Enlist any two measures to check Global warming.

“fava UM & THUH & HiE I STF TR

A batsman, while playing a ball, applies a force on the ball

through his bat.

(i) Can he increase the speed of the ball without changing
its direction of motion?

(ii) Can he decrease the speed of the ball without changing
its direction of motion?

(iii) Can he change both the direction as well as its speed of
motion?
Give, in brief, the reason for your answer in each
case.

T Sodds] 1S Told 999 30 ol § 18 W a9 ol €
(i) = = g i e uRafda fru fomn i =1 fd i =1 Hehar &2
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18.

19.

(ii) @1 o€ 75 w1 fzen qfiafdd fre iR g fa o e g 22

(iii) ¥ =8 e 1 foen Ue fd H hl w8 Hehal B2

sk farfa 9 o19q I & fo dau o 3fed o aani|

(a) Arrange static, sliding and rolling friction in increasing
order of their magnitudes.

(b) The bodies of fast moving sports vehicles are designed to
have a streamlined shape. Why?

(c) Name two animals having streamlined bodies. 1+1+1=3
(a) STEM % §&d HH & MR W Wifaeh, g6t 3R e ador =i
ERCESCHI I

(b) g fd ¥ o ol W ded 1 ATHR URRAGY 9= S
21 F?
(c) T 9 W IR T 9 SHel & 9| ddigd|

(a) A ball, after rolling down O
an inclined plane, moves N
on a horizontal surface.

It is observed to come
to rest after travelling a
certain distance. Why?

(b) In the following situations
state, with reason, whether A
friction is a necessity or an evil :

(i) Wear and tear of moving parts of machines
(ii) Lighting a match stick. 1+1+1=3

(a) THh f& MR ¥ Teohd & 918 Tk 75 Th THqA Hag W
Tt B S W T FH F K 98 Tk W | F?

(b) = & 7 uRftafqal & wRu Gfeqd sam fF a0 TF ST&@
g a T
(i) T dIfed #7399 i T2-Tel
(i) wiferg &t diell 1 Sl

Alternative question, for part (a), for visually challenged students

gie Ea faeriat & fau defeus woa

(a) Mention one method to reduce friction.
(a) T &Y H H1 Tk ekl aq|
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20.

(a)

(b)

(a)

(b)

(a)

(b)

OR (31¥dr)

A box is first pulled along the surface of a table and then
moved by putting it on a collection of pencils. In which
case would it be easier to move the box and why?

'The invention of the wheel is one of the greatest
inventions in the history of mankind' Why do we say so?

T Tk Teell 9N B9 i Tde S e @i ot ® $IR 9
T 2 el & W TR G S g1 R awe ® T w
e S B SR b ?

“Ordg sfaem H ‘ufen’ 1 @S Tk HeM @i 21" W U
i wed &7

When electricity is

passed through Electrode
distilled water

the bulb does not

glow. Suggest a

method that can

make the

bulb glow.
Name and give the

basic details of

construction of a device \
that converts chemical Water
energy into electric energy.

el e St W @ fogd |t St €l sod Yo el
BTl 9ed i YhRMM H & A g Th fare gemr|

3H IYHRT HT AH F STERYd T & IR H A Sl
@t St 1 foed S o ufafdd s 2

Alternative question for visually challenged students

gfe hew foenfie & fom Swfeas wou

(@)

(b)

State a simple method that can be used to make distilled
water act as a conductor of electricity.

Name and give the basic details of construction of a device
that converts chemical energy into electrical energy.
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21.

22.

23.

(a) TH HURU Tl da 5Ee gR TWed Sid &l faga &1
g S Hehd 2

(b) 3T ITRII FT A AT 9 STERYT G o IR H Farg i
T St ol e ot § ufafdd s 2

Write any three steps that can help in protection against an

earthquake.
I | 99 § THR] HEE KL Hehd a1cl s A9 39 |

(a) With the help of an activity explain that copper wires
can conduct electricity.

1+1+1=3

(b) Which allotropic form of carbon conducts electricity? 2+1=3
(a) TH foRaTheld &1 TRl § T SHifaQ fh SR ar fag@ =t
g 2
(b) & 1 %A T GgEd &Y 8 S fasell w1 geresh 872
OR (37¥d)
When one end of iron rod is put in hot water.
(a) What do you observe by touching its other end after some
time?
(b) Which physical property of metal is shown here?
(c) Write any one use of the above physical property. 1+1+1=3
S R i B 1 TH G0 T I H Sen S e
(a) 30 T R+ B R ATHRI F1 I Tl &2 (3US1/H)
(b) &g & ford ifdes o1 &1 7€ weiid wea 82
(c) TR fafEa difqew 01 %1t syEm fafay)
(a) What do you understand by 'marble cancer'?
(b) Name the air pollutants that cause the followings :
(i) Permanent leaf drop.
(ii) Respiratory disorder in human beings. XL =3

(a) ‘GRS fFA Fed 22
(b) Frefafad s forg g 9gush & HROT B 2l
(i) Tl =l wrEl ®9 9 e

(ii) T@E Ui ° TeY
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24.

(a) The levels of water, in the A B
two arms of A & B of a
U-tube, are shown in the
diagram. A valve is put
in between the two arms.
State the direction of
flow of water, when this
valve is removed, and give
the reason for the same.

(b) (i) Complete the diagram

showing the flow of
water from each hole.
(ii) From which hole
water travels, the
largest distance?

Why?
(31) 9-2g9 & T a9 A BYH 9 1 TR @™ T & w®e A
IS & S Tk dled R T B1 39 died Sl 82 4 W
Sl @ YAE i 90 qon SHRT HROT A Far|
() (i) fEu T o 1 QU s ke fF & 8% 9 9 &1 6R
fore & e SAwr?
(i) fFa 27 @ Franclt g8 O &1 oR Fed aAfuss 3T S
SR Ff?
Alternative question for visually challenged students
gfte tfea faamfiai & fou Senfeuesr wom

(a) State the meaning of the term hydrostatic pressure.

(b) Write any two properties of liquid pressure.

(c) When a liquid is allowed to come out from two holes, in a
container, located at the same height, it falls at the same
distance from the container. Why?

(d) State what would happen to the distance covered by water
stream if the holes are shifted slightly above the base.

(a) ST <@ 9 9 31 T 87

(b) T @ & /1 IO fog|

(¢c) V& 5 & fordlt O 61 99 o W 9 B 9 R s
2 dl 9% T ¥ gAH 50 R fiRa 21
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25.

(d)

(a)

(c)

(a)

(b)

(c)

(b)
(a)

(b)

1 B W T H S U H U qE w Al o
qiel HR LR = <)

OR (37¥ar)

Consider three clay balls of equal diameter. We place
one, two and three books respectively, on the three balls.
In which case there would be the maximum change in
the shape of the ball and why?

While filling a fontain pen, using an ink pot, how does
the ink move upwards?

Rohan pours some hot water in a plastic bottle and closes
its lid tightly. After some time the bottle gets crushed

inwards. Discuss briefly the reason for such a deformation. 1+2+2=5

M ol i figgY w1 g TuE oI w5 @1 gH HE: Th W Th
forae, @l W, fgd W A9 frae wad ©1 A @ staeen
T 1ig @t Mpfa W Tl d=ele e SR 2

S Teh HISe UF hi SIET 1 390 ¥ W 8 S 8 SW
St €2

et 3 Th e &1 siqed o Hz T T el IR ST
TFRT SIR 9§ 98 T | 1 X A- dida =L ki W fHege
St Bl 29 forpfa o RoT 1 G849 § oAren i

List the conditions that help in getting a smooth and
firm deposit during electroplating.
Why are kitchen gas burners coated with chromium?

SARITATST o SRA Tt IR Asfed S & fordl weg
et ¥l il YEas

EE H T8 & R W HUTIH o 1 W = =G
S ©2

OR (37¥ar)

Predict whether the bulb
glows or not, in the following
situations : S N
(a) When a magnet is moved
towards a coil with the
North pole towards the coil.
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26.

(b) When a magnet is moved away from the coil with its
North pole moving away.
(c) When the magnet is kept stationary near the coil.
(ii) Name and define the phenomenon associated with thel+l+1+/%
above situations. Who discovered this phenomenon? +1+Y=5

(i) Frefafaa ufifeafaa § sad o = s ghemE g o 72
(a) S Tk Tk h1 IW Yd YRANCRT i TWE @RI
ST 21
(b) & T ek 1 ST ¢d TRATAHT F T o Sl <l 2
(c) & greeh i URATAHT & I TRl @ S 2
(i) ST IRl 2 g3 9T &1 T8 3R SHeh! aRer 3| 59
k" i fReH @ on?

Alternative question for visually challenged students
gfte ea faenfd=i & fou defeus wo=

(i) Define electromagnetic induction.

(ii) What activity did the scientist (who discovered it) perform
to explain this phenomenon electromagnetic induction?

(iii) State his observations.

(i) for@ g =ed &1 9Refia &1

(ii) o rerta =em 1 e & fau oute (e 5@ v
F @i &1 odf) 7 N fhaeRem fwam

(iil) 3T AT STIAB o?

(i) Define reactivity series.

(ii) Arrange the following metals in the order of their
increasing reactivity.
Cu, Fe, Mg, Zn

(iii) What happens when :-
Copper wire is dipped in silver nitrate solution

[Equation only] 2+2+1=5
(i) eIfufsran goft 1 aRefa St
(ii) fr=fafaa sngeti =1 39t fRan 9oit & gd %9 § amEul

cu, Fe, Mg, Zn
(iii) 1 Bl € S -

HIW (e) T AR ! Fieer g & faeraq o gamn s 21

(had W w1 gHew fad))
[179]




27.

(b)
(c)

(d)
(a)

(b)
(c)

(a)
(b)
(c)

OR (37¥ar)

Give reasons :-

(i) Aluminium is used for making thin foils.

(ii) Silver is used for high precision electrical contacts
in computers.

How can we modify the properties of metals?

Name the non-metal used as

(i) an antiseptic

(ii) a cutting tool 2+1+
Write the composition of stainless steel. 1+1=5
RO ddRY -

(i) T o1 gl R s & forg Syan feman S 2|
(ii) X & fagg ofoy § =G & | o § . 2l

U1 & TN 1 3R deR® Y T S Hehdl 22

sugett & T fafey 5=

(i) urafes

(ii) e & I § & foha S 2|

B € & efedl % A fatey

How is coal formed?

Write the names of any three places in India where coal
is found.

Write the names of the different products of the

destructive distillation of coal which are used
(i) in the extraction of metals

(ii) for making dyes/paints 2+1 Y+
(iii) as domestic fuel. 1¥%=5
FIe Hy fafdd g 82

qd | forgl o ol & AW fafaw el igen 9@ S 2l
‘S ER” 9 W BH el T ugref @ AW adee SR
(i) o1g & aieheor |

(ii) S8 (dyes)/a? (paints) & fou

(iii) R S99 & ¥4 H

s TR Sl e
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28.

29.

OR (37¥ar)

(a) Name the fossil fuel known as black rock. Mention its
any two types. Write the factors on which they are
classified (two points)

(b) What is destructive distillation. Name its products.

(c) Write the composition of water gas.

(a) “wret 9g™" & €9 H SET S el SHemeHi g99 a1 AW
fafau)
(b) “sier 3THeH" R 27 399 U eF arel g sarsy)

(¢) R g =1 g7 faf@m)

Section - B (@2-9)

Name the cell organelle that is responsible for forming the
skeletal framework of the animal cell.

(a) Chromatin Network

(b) Endoplasmic Reticulum

(c) Vacuole

(d) Golgi Complex

=] HIVTERT o IH ST H1 A qaqeT Sl IH GEAHE Eral YSH
W T

(a) HiHfE ST

(b) TEIwnEns feqem

(c) Redtent )
(d) AT i

Name the micro organisms which are considered as the border
line between living organisms and non-living things.

(a) Bacteria (b) Fungi

(c) Viruses (d) Protozoans

39 Ged g k1 A S S geie 3R fAsia & = T dm
I feom 2

(a) SeifEn (b) HHT
(c) fommy (d) grershet
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30.

31.

32.

33.

34.

35.

36.

What is the name given to a group of cells specialized to perform
a specific function in animals?

39 fafyre wifsent 1 =0 9™ € <t Sgei ¥ fafyre % w9
F 7?2

Define endangered species.

foqa e % R W e yonfadl 9 @ wE @72

Write any one way by which recycling of paper helps in saving
the environment.

HE TH I FaEd 9 G HETS & GAaohT R ATAER0] hi
a5 W 7

(a) Define Biodiversity.
(b) Why do we need to conserve it?

(a) o fafa=tar =1 R 3
(b) =9 GUfEd & H1 2 R SEavIHhal 27

Give any two roles of micro organisms in cleaning the
environment.

TR H PG FH F A gemsial st g GfFw S@qEy)

(a) What are pathogens?
(b) Name one plant, and one animal, disease, each caused
by pathogens.

(a) IWTHATEH T €2
(b) U Y o Th <= U T A oastt <t Waes d e 2

(a) Where is cytoplasm located?

(b) What is the function of mitochondria?

(c) Name any two organelles present in the nucleus of the
cell.

(a) HIH 57 Fal Bl 22
(b) HIERITGA T S Far|

(c) IR & Sk H YA I 37 & H faE|

OR (31Ydr)

(a) What are plastids?
(b) Name the plastid that imparts green colour to the leaves.
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37.

38.

(c) Name the plastid that imparts different colour to the
fruits. 1+1+1=3

(a) odF I 27
(b) 3T @G 1 A FaAl S Gel F U Bl T T YSH FIT 82
(¢c) 39 oaek 1 919 adisll S Fell w1 fafd= T 98H il 272

(a) Label the following diagram
of an animal cell :

(b) Give any three differences 1

between plant and animal cell. 2 1v6+14=3
(a) 7= & U sTer@ o =t 3

iR
(b) WIRY HITRT R <= HIfFTHT

o HIE dH < Fdd)

Alternative question for visually challenged students in
lieu of 37 (a)

gie Tfga faanfial & fau Senfeas w9 37(a) & ™M W

(a) Name the three main parts of a typical cell.

(a) U fefusrar sifereRt & F g ar & 9 =

(a) Why are perishable food items like meat and fish covered
with salt?
(b) Why is vacuum packing recommended for storing nuts?
(c) Give any three methods used for the preservation of food.1+1+3=5

(a) Vol @UE B ol @ U9Y S9 Wi SR uoell i T
R T & T =i wal Siian 27

(b) 1o 1 Frafa fafer @ wfea @ & fow = ser s 2?2

(¢) @M ! G @A & Hig o U Fadrst|

OR (37¥dT)

(a) Komal eats stale food and shows the following symptoms:
nausea, vomiting and dehydration. Name the possible
disease she may be suffering from.

(b) Name the causative agent of the above disease.
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39.

(c) Write two preventive measures for safe guarding against
this disease. 2+1+2=5

(a) HE o€ @M @il ¢ IR 39 fFrefafed e feerg <d @
Y TFRT AT, I, T H1 FHH Al agaqrst o7 e S 9
T B Gehdl 22

(b) 39 YR *1 HRE Farst

(¢) FE I Wb oad fF9Y 39 e HI @l @ o= <1 qahell 2|

(a) What is deforestation?
(b) Give two causes of deforestation.

(c) Write two consequences of deforestation. 1+2+2=5
(a) o & fomer @ =9 = THeM 22

(b) = & former & | HROT e

(¢) = & faamer & < g Fae|

OR (37¥an)

(a) Write three global consequences of deforestation.
(b) Write two human activities that are responsible for
deforestation. 3+2=5

(a) ol & fomr & i afvess game =a=u)
(b) TH 3 et fward fomt s o fome & fore fomer 2
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SCIENCE & TECHNOLOGY

(SUMMATIVE ASSESSMENT - I)
Maximum Marks : 90

MARKS SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by
the candidates, be suitably awarded. )

s Marks Allotted Total
. to each value ota
No. VALUE POINTS / KEY POINTS Point/Key |Marks
Point
SECTION : A
1. |(a) 1 1
2. (a) 1 1
For visually challenged students
(d)
3. |(a) 1 1
4. |(c) 1 1
5. | Rough road offers greater frictional forces 1 1
6. | An earthquake is a sudden tremor of earth's
crust which lasts for a very short time. 1 1
7. | A (moderately) destructive quake 1 1
8. | Tensile strength 1 1
9. | Because it is Lighter than saline water 1 1
10. | Fewer emissions, or no ash particles, left
after its burning. 1 1
11. | (a) (i) F, is acting from east to west /F,
is in the direction of motion of the
object P. %)
(ii) F, is acting from west to east /F,
is in the direction opposite to the
direction of motion of the object P. Y
(b) 1 2
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No.

VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key
Point

Total
Marks

12.

13.

14.

15.

16.

17.

For visually challenged students

More force will be required to stop object B
of mass 50 Kg

Because object B has more mass as
compared to object A.

(i) Force applied by A was not enough to
overcome the frictional force.
(ii) Static friction

Sodium chloride - strong electrolyle, ionizes
completely to form free mobile ions, large
number of free mobile ions are formed
(any two)

Citric acid - weak electrolyle, ionizes
partially to form free mobile ions, only small
number of free mobile ions are formed.
(any two)

Hydrogen

It burns with a pop or cracking sound
when a burning splinter is brought near the
mouth of the test tube.

Definition (Pg 270)
Global warming

1. Use of fossil fuels should be minimised.
Electricity should be generated from
nuclear reactors and hyroelectric power
plants.

3. Stop deforestation

4. Practice afforestation

5. Use of CFCs must be checked.

(Any 2 measures)

(i) Yes, if he applies the force in the
direction of the motion of the ball
OR

Yo

1Y%

1+1
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Marks Allotted

S. to each value | Total
No. VALUE POINTS / KEY POINTS Point/Key |Marks
Point
No; as he usually does not apply a force
in the direction of motion of the ball. 1
(ii) Yes, if he stops the ball or if he applies
a force opposite to the direction of
motion of the ball. 1
(iii) Yes, if he applies a force at some angle
to the direction of motion of the ball. 1 3
18. | (a) Rolling friction < stiding friction < static
friction 1
(b) To reduce air resistance/fluid friction 1
(c) Birds, fishes, tiger (any two) Votlsp 3
19. [ (a) Due to the presence of friction 1
(b) (i) An evil; friction wears out the
surfaces rubbing against each other 1
(ii) A necessity; the matchstick is lit
due to friction between it and the
surface of match box. 1 3
For visually challenged students
(a) Any one method 1
OR
(a) In the second case. Reason : Rolling
friction is less than sliding friction 1+1
(b) Wheels save labour and energy in moving
from one place to another. 1 3
20. | (a) Add few drops of dil H,SO,/Add a few
crystals of common salt. 1
(b) Voltaic cell Yo
Zinc & copper rods dipped in electrolyle
dil H,SO,. Vot+lo+1s 3
For visually challenged students
(a) adding few drops of dil H,SO, 1
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VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key
Point

Total
Marks

21.

22.

23.

24.

(b)

(@)
(b)

(a)
(b)

(c)

(a)

(b)
(a)

Voltaic cell
Zn+Cu rods
dil H,SO, (electrolyle)

The structure should be simple & quake
safe

Safes places must be identified
Buildings should have fire-fighting
equipment in order.

Disaster management supplies should
be available on hand (any three)

Activity (Page-31)
Graphite

OR

The other end also becomes hot
Metals are good thermal conductors/
Thermal conduction

This property of metals is used for
making cooking utensils.

When rain water containing acids falls
on statues/structures/monuments
made of marble, they undergo corrosion.
This phenomenon is known as marble
cancer.

(i) CO (ii) NO

2

The water will flow from arm A to
arm B. Because pressure exerted by
water at the bottom of the container
increases with an increase in the height
of its column. Since the height of the
water column in arm A is more than
that in arm B, Water will exert more
pressure at the bottom of the container
in arm A than in arm B.

Yo
Yo+l
%)

1+1+1

Yo+l
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VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key
Point

Total
Marks

(b)

(i) Diagram on page-56 of text book

(ii) Water, from hole D, will travel the
largest distance. Because the
pressure of water is more at this
point than at the other holes.

For visually challenged students

(a)

(b)

(c)

(d)

(a)

(b)

(c)

The pressure exerted by a stationary
liquid (kept in a container), at any point
inside the liquid is known as hydro
static pressure.

(i) Liquid pressure at the bottom of
container does not depend on the
bottom of the container.

(ii) Liquids exerts equal pressure on all
walls of the contains

Liquid exerts equal pressure in all

direction at the some depth. Hence the

streams from the two holes, would cover
equal distances.

The distance covered by the stream will

be (slightly) less.

OR

In third case; pressure is maximum
is third case.
Because the air pressure, acting on the
surface of liquid, becomes greater than
the pressure inside the tube.
The hot water heats up the air inside
the bottle and causes it to expand and
escape before closing the lid.

Once the lid is closed, pressure of
outside air becomes more than pressure
of air inside, causing the deformation.

1

1+1

1+1
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to each value
Point/Key
Point

Total
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25.

(a) (i) The article to be electroplated
should be made the cathode of an
electrolytic cell.

(ii) The amode is made from that pure
metal, which is to be coated on the
article.

(iii) A suitable soluble salt of the anode
metal is taken as electrolyte.

(b) To provide shiny surface, to avoid

corrosion, and to reduce the effects of

'wear and tear' and scratches.

OR

(i) a. Bulb glows
b. Bulb glows
c. Bulb does not glow
(ii) Electromagnetic Induction
Definition
Michael Faraday

For visually challenged students

(i) The phenomenon in which electric

current is generated, by a changing

magnetic field, is known as
electromagnetic induction.

(ii) Refer activity on page 225 in the text

book.

(iii) (i) Whenever there is a relative motion
between a magnet and a coil, a
current flows through it.

(ii) The flow of current stops and would
remain stopped, as long as magnet
and coil are at rest.

(iii) Faster is the relative motion, more
is the flow of current.

(iv) The direction of current is such as
to oppose the motion of the magnet.

1+1+1

1+1

1+1+1

Vot 1+15
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Marks Allotted

S. to each value | Total
No. VALUE POINTS / KEY POINTS Point/Key Marks
Point
26. | (1) Definition (Pg. 36) 2
(2) Cu<Fe<Zn<Mg 1
(8) Cu + 2AgNO, [»  2Ag+Cu(NO,), 2 5
OR
(a) (i) Malleable 1
(ii) It is best conductor of electricity 1
(b) By forming alloys 1
(c) (i) Iodine (ii) Diamond YotV
(d) Iron + Chromium + Nickel 1 5
27. | (a) Coal is formed from plant remains
that were buried under the earth's crust 2
(b) Jharkhand, MP, Orissa, W.B (any 3) 1%
(c) Coke, Cotton, Coal gas 1%
OR
(a) Coal
Peat, lignite, Bituminous, anthracite 2
(any 2)
% of carbon, moisture, content of volatile 1
material (any 1)
(b) Pg No. 87
Products : Coke, coal gas, coaltar 1
(any 2)
(c) CO+H, 1 5
28. | Endoplasmic Reticulum 1 1
29. | Viruses 1 1
30. | Tissues 1 1
31. | Species which face a high risk of extimction
in the near future. 1 1
32. | Any one relevant point 1 1
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No. VALUE POINTS / KEY POINTS Point/Key |Marks
Point
33. | (a) The variety of life on earth is called bio-
diversity 1
(b) — it plays important role in
functioning of food chams and food
webs.
— helps to maintain the ecological
balance of uospters Vot+Vh 2
34. |- When a plant or animal dies it leaves
behind nutrients and energy in the
organic material.
- Convert all organic matter into CO, and
nutrients (any other relevant point) 1+1 2
35. | (a) Disease causing organisms are knwon
as Pathogeas 1
(b) Plant - Tobocco Mosaic / Citrus Canker
Animal - Anthrax / Rabies / Rugwork
[Any one of each] Votlsh 2
36 |(a) Cytoplasm is located inside the cell
membrane and outside the nuclear
membrane 1
(b) Known as power house of the cell as it
generates energy through cellular
resperation. 1
(c) nuclear membrane, chromatin,
nucleolus (any 2) Votls 3
OR
(a) Large cell Organelles, present in the
plant cell, Which contain pigments
which provide colour to the cell. 1
(b) Chloroplast 1
(c) Chromoplast 1 3
37. | (a) (1) Cell Membrane (2) Nucleus
(3) Cytoplasm LoX=1%
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S. to each value | Total
No. VALUE POINTS / KEY POINTS Point/Key Marks
Point
(b) Any 3 differences Yox=115 3
38. | (a) — to check bacterial growth 1
(b) — The vaccum environment strips
bacteria of oxygen needed for survival
and slows down spoiling.
— Reduces loss of flavour from oxidatom Vot+Vh
(c) — Name any 3 methods Yox=1l5
[A little one line explaination of these
three methods.] ox=1%
OR
(a) Food Poisoning 1
(b) Bacteria like clostridum, Staphylcocci
Fungi like aspergillus (any 2) 2
(c) Any 2 preventive measures 2 5
39. | (a) Cutting down of trees 1
(b) Any 2 causes 2
(c) Any 2 consequences 2 5
OR
(a) Naming of
— Climatie change
— Desertification
— Ozone Depletion lax=1%
One line explaination of these ox=1V
(b) Any 2 human activities causing
deforestation. 1+1=2 5
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